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Name Date

o ) Best Estimate N]

There are 61 rows of pear trees in the orchard. In each row there are
74 trees. Fill in the circle next to the best estimate for how many
pear trees there are altogether. Explain how you know.

() A. 80 X 50 = 4000
() B. 65 X 75 = 4875
() C. 60 X 75 = 4500
() D. 60 X 80 = 4800

P) pivisibility Rules N

A number is divisible by 2 if dividing it by 2 gives a whole number.
If @ number is divisible by 2, then 2 is one of its factors.

Tell which numbers below are divisible by 2. Tell which numbers
below are divisible by 3. Remember, a number is divisible by 3 if
the sum of its digits is divisible by 3.

A.

C
E.
=
G

26 B. 258
. 368 D. 939
1032

Which numbers above are divisible by 67

. Write the divisibility rule for 6.
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